e Graphing Relations

I. Using a table of values:

Using a Table of Values to Graph a Linear Relation Worksheet

Find the value of “y" in the following table(s) of values.

a) y=x+2 b)y=2x+1 c) y=3x-1 d)y = 2x
X Y X y X y X
0 | & 3 |7 8 2
1 |73 4 |9 9 3
2 | ¢ 5 | (I 10 4
3 | S 6 |13 11 5
4 | G 20 | ¥ 25 100
e)y=%x+2

: f) y=-ox-3
X y ]
0 o X y
2 3 3 [T
4 | ¥ 6 |~
6 | = 9 |0
8 G 12 | )




x|y
I |
D/3

=1
X

Graph the equation: y =—3x+ 5
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Develop a table of values for the equation ¥ = ,5x 4 3 and use your points to draw the graph

XY

O[>
2[4
N AN

1

«®

®

s ®




Graph each of the followmg
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Now try sketching each of the following:

6x-3y=12 | _ 3x+4y+1=0
What do you think would be a good first
.:23,_ 2~(,x Step toget these sketches started? = ‘EL— I
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Here are a couple of SPECTIAL CASES:
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Finish the statements below:

Horizontal Lines will always ???

Be = S A\ N\u\\,ep
3 (@

Vertical Lines will always ???

/3-? X = /‘lv\a Manhop



IT. Graphing LINEAR relations using intercepts

Problem : Using intercepts, graph 4x+y=4 Problem : Using intercepts, graph 20x + 5y =20
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Problem : Using intercepts, graph 20% + 5y =20
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Practice Problems...
Page 308 - 310

#3,4, 5, 6,10, 11, 14, 16, 19,

10
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